Genetically Modified Foods

Vocabulary Test 2 - "GM industry falling apart worldwide"

INSTRUCTIONS: Choose a word from the list below to replace the underlined words in each sentence. The first one has been done for you.

   1. We do not know the full effect of GM products on our surroundings.        environment

   2. GM organisms are changeable. __________

   3. Ordinary beans produce 5% higher yield than GM beans. __________

   4. A report in Britain shows no financial gain in GM crops. _________

   5. The Risk Management Organisation approves research and release of GM products in New Zealand. _________

   6. You need to make sure you learn all this vocabulary. __________

   7. The result of learning vocabulary is increased success. _________

   8. There is general support for containing GM organisms in the laboratory. __________

   9. New Zealand does not want to be dishonoured. __________

  10. We should not willingly give up GM-free status. __________

  11. GM-free status may become desirable. __________ 
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